((100) A= o =T A

(170) A=

CalE

)

= = oquey |1 B 2y
B8 -MY-= off &k o4
2 A 48,420,349 | 41,732,305 6,688,044
100 AtEA4¢ 26,993,792 | 20,345,748 6,648,044
170 2Lz 22,227,044 16,979,000 5,248,044
173 ElAHEEZ=F+Y 21,927,044 16,679,000 5,248,044
01 =Z2nERIFZLY 11,443,000 10,756,000 687,000
O 2006 BTL ot HEH|AL
=H| 4 4,334,000,000¥ - 7|4 4,237,000,000¥ = 97,000
O AE0|ZE BRA 142 HHIAIY
26| 23 651,000,0002 - 71 61,000,000¢ = 590,000
02 EAHLEZRFSTY 8,039,044 | 4,393,000 3,646,044
O Yuta[H MYUZ 3,646,044
o 20059 BTL o2t A ZH|ALY 882,000,000¥ x 1Al = 882,000
o 20064 BTL ot A H|AMY 1,294,000,000 x 1A = 1,294,000
o 2009 BTL ot HAHAY 672,000,000% x 141 = 672,000
o UM AHMSH A HH|ALY 238,000,0009 x14l = 238,000
o il QMEAIRLIFH 5t 2 2 ZAL 23,000,000¥ x 1Al = 23,000
o SHTBHAHAAIY DEH2| HAAY HAHED
317,800,0009 x 1A = 317,800
o S5t 2|E SHERIA7| T7 |2 e 2|
148,096,000 x 14| = 148,096
o S5t E|E B8 SUA(UHSHUA) 7+
71,148,000 x 1Al = 71,148
03 AcHEZz4Y 125,000 30,000 95,000
O EYs MotsdH A- LR 2420| XA (HH7])
LH| 75,000,000% x 14| = 75,000
O SYUZ 7582 242 FH AL (EEZEUES)
LH| 20,000,000¥ x1A!l = 20,000
09 7JIEtHEEZRZTY 2,320,000 1,500,000 820,000
O ote-=dH| 2H 22| 2| HH|AIY E—H YA 500,000,000 x 14! = 500,000
O YHA|T AR 2| S HB|ALY E-WEA 320,000,000% x 1A= 320,000
180 REZ=Z 4,766,748 3,366,748 1,400,000
182 0|2 2,600,000 1,200,000 1,400,000
02 7|ElO|Z 2,300,000 900,000 1,400,000
O MHEE JRIZAREF 0|57
Z4d 2,300,000,000¥ - 7|4 900,000,000& = 1,400,000
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